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Basic Difference between
Japanese and English

Item Japanese English

Sentence (S) + Predicate IS +V+(O +C)

Logical &

Meanin Requires inference .
5 1 Specific

Noun Many meanings

=== ===
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Purpose: Disclosure of reproducible findings

“Scientists report and detail their
experimental methods in journals, inviting others
to perform experiments to verity or disprove the
results. Each discovery suggests new paths of
investigation, leading to the increasingly rapid
expansion of scientific knowledge.” (Fran
Zimmerman, English for Science, 1989, p.141)

October 8., 2014 6




IEEE-GCCE 2014

1. Formal: No slang, colloquial expressions,
and abbreviations unless
previously defined.

2. Complete: Each sentence must be complete
and grammatically correct.

3. Paragraph writing

4. Description of objective facts
S. No assertive expressions
6. Requirement for references
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(

Topic Sentence

Topic Sentence = Topic + Controlling Idea
. J

N
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* Deals with specific topics related to science
and technology

* Transmits information with clear purposes
®* Should be Reader-friendly
* Is based on 3C’s m®) - Correct

* Clear

- Concise
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(1) Correct

Write correctly in terms of both
content and grammar.

(2) Clear

Write reader-friendly and Logically!
(3) Concise

Avoid redundancy
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(1) Correct
 Grammatically correct.
" Agreement with content
* Conformity to punctuation
* Conformity to writing rules
"Correct spelling
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(2) Clear
" Reader-friendly
" Logically (rhetorical expression)
 Consistency.
" Abstract noun to verb
" Passive voice to active voice
" No top-heavy sentences.
*No ambiguous pronouns
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(2) Concise
 Least redundancy.
" Abstract noun to verb
" Passive voice to active voice
" Participle construction
"Inanimate subject construction

* Avoid using “Itis ... to ..., ” and
“There is/are ....”
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* Correct

Academic
writing » * Clear
* Concise

English f

representation
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(1) Avoid dangling participle.
TE#BZERLTIEDZHEMMIMIL -,

X The workpiece was machined using
machine tools.

We machined the workpiece using
machine tools.

O Using machine tools, we machined the
workpiece.
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(2) Use participle construction for a sentence
with a cause and effect relationship.

BMRIXHETIEMERESL, R EXHE D=
DICKHELIRILT—EFRET S,

|[Cause] Oxygen combines with the food we
consume,

thus

| Effect] the energy we need to maintain our
body temperature.
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(3) Use standard referring expression patterns.
MaTl~ENIE, RERITZZECIFMLU=,

Statistics shows that the unemployment rate
has increased rapidly.

*Verbs used with that-clause: show, reveal,
Illustrate, demonstrate, indicate, suggest

"Verbs that cannot be used with that-clause:
give, provide, plot, present, summarize, display
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(4) Use the demonstrative pronoun “this” as an
adjective.

aVEaA—2-J4IILRIE, KRRV E2L—4
[ZRERRL, BICEXRGHEEBZ5 XS5,
Computer viruses can infect a host

computer. This ( ) sometimes causes
considerable damage.
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(5) Use a standard sentence pattern when
writing definitive sentences.

| | = [General class word] + [Specific
characteristics]
| | is defined as [an electric

current] [that flows in one direction.]
: be denoted by, stand for, be called
be referred to as , be known as
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(6) Avoid using “etc.” unless absolutely needed.

FEKRIFOAVE 21— FPEFBREFICHEAS
nTLs,

A Semiconductors are used computers, mobile
phones, etc.

O Semiconductors are used in information
equipment including computers and mobile
phones.
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(7) Use one-word verbs.

bring up —  raise

come up with —  develop
figure out —  determine
get rid of —  eliminate
g0 down —  decrease
keep up —  maintain
look at —  observe
look into —  investigate
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(8) Do not use abbreviations.

aren’t — are not

isn’t — is not

can’t —  cannot / can not
don’t —  do not

won’t —  will not

you’re —  you are

they’ll —  they will

October 8., 2014 24




IEEE-GCCE 2014

(9) Do not start a sentence with “and,” “but,”
and “SO.”

and — furthermore, moreover,
additionally, in addition

but — however, nevertheless,
nonetheless

SO — therefore, thus, consequently,
as a result, accordingly
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(10) Use “no” instead of “not ... any.”

BH AR IEIFELELY,

X There are not any refracted rays.
O There are 1o refracted rays.

FEELRESZIRELTLVEL
X Anyone has not submitted a report yet.
O has submitted a report yet.
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(11) Do not use symbols, Arabic numbers, and
abbreviations at the beginning of a
sentence.

X is the circumference to the diameter
of a circle.

@ is the circumference to
the diameter of a circle.
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(11) Do not use symbols, Arabic numbers, and
abbreviations at the beginning of a
sentence.

X is the year when Thomas Edison
invented the phonograph.

O , Thomas Edison invented the
phonograph.
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(11) Do not use symbols, Arabic numbers, and
abbreviations at the beginning of a
sentence.

X shows a typical impedance curve
for a loudspeaker.

O shows a typical impedance
curve for a loudspeaker.
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() EDRFLHL1ELLLDEFZHFH->TLS,
Original: Every atom has more than one

electron. \ 2 3.4

Correction: Every atom has
electron.

Model Answer:
Every atom has one or more electrons.
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2) TEDBZFZDESIL50gTH S
Original: Weight of the container is 50 gram.

Correction: weight of the container is 50
grame-.

Model Answer:
" The container weighs 50 g.
" The container weighs 50 grames.
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Q) NILT IS ECRIEDTRNTHE T HEET

Do
Original: Bulb is a device to adjust flow of gas
and liquid.
Correction: Bulb-is-a- device: used
to adjust control flow of © gas and or
liquid.

Model : Valves are devices used to control the
flow of a gas or a liquid
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4) MENZERLSN D BRBZEKRT Do
Original: M and N mean natural numbers
except for zero. Ti Symbols at beginning

Correction: M and N mean
natural numbers except for zero.

Model Answer:
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(5) CHOREDOFEARNESLDIEIHYFEE A,
Original: We don’t have anything to learn
from this experiment.

Correction: We-donothaveanyvthine

te learnc < from this experiment.
Model Answer:
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6) KIXZEDERBRIRDEAREZERLT-,

Original: He conducted the measurement of
the thickness of the metal plates

Redundant
Correction: He conducted-the measure ment

of the thickness of the metal plate.
Model Answer:
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(7) XEREFENNEYZEET HEIED
ETHDo

Original: Photosynthesis is process which

——————\
plants manufacture food. Grammar Prob.

Correction: Photosynthesis is = process
which plants manufacture food.

Model Answer:
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(8) TDARE—H—ILEERE 2m T84 ABOEFIEL
NIVEBET S,

Original: The speaker generates the sound pressure
level of 84 dB at distance of 2 meter.

Correction: The speaker generates produces
the © sound pressure level of 84 dB at = distance
of 2 meter:.

Model Answer:
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) BEMZERINIESELSSIZAET S,

Original: Further improvement in operation can be
e |

eftected by using a lubricant. Redundant
Correction: urther
improvement in operation ean-be-ettected by

using-alubricant.
Model Answer:
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(10) ERZHRMICBMESELTOT LA
ZTHD,

Original: Programs that allow the resources to
operate effectively are needed.% Top heavy

Correction: rograms that allow the
resources to operate etfectively-are-needed.

Model Answer:
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(11) FRRBITCBEEEDAYFSA DB TH AR,
EfT HEIITHZD,
Original: The lights seem to go straight which is
radiated from searching light or automotive head

lights.
Correction: Fhe lights seem: to ge
straight which is radiated from = searching

light or 21 automotive head lights.

Model Answer:
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(12) A DNFIEMIRIE T DI b l: T,
FORAITHFLOREL Y XERL, co 5
Original: Being unsuitable for the study, the

company has developed a new optical lens.
Correction: eing

unsuitable for the study, the company has
developed a new optical lens.
Model Answer: The company has developed a new

optical lens because the current optical
microscope is unsuitable for the study.
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(13) BERIIHEDMEBCEED R, -8
DEREHZfFEHNS, Inconsistent

Original: Electricity is used for heating, light for
room, and driving machine.

Correction: Electricity is used for (0 heating
substances, lighting fer rooms, and driv ing
machine:.

Model : Electricity is used to heat substances, light
rooms, and drive machines.
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(14) DNAERHIDFEEN N EARZICARREEEIETART
DADRFHILGE--CETH D,

Original: Every person did not expect that the DNA
has such an uneven activation.

Correction: Every-person-did-not expect
that activity of the DNA sequences has-such-an

ivati

Model : No one thought that activity of DNA
sequences was so unstable.
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(15) BRDOFRILEVIE, AMEOH THEGZEBZES
THY, TELEHED1ONERERENTHS.

Original: As natural hormone has clear roles in a
human body, one of the main contribution is
reproductive capacity.

Correction: As natural hormone: ha ¢ clear roles
in a human body, one of the main

contribution is reproductive capacity:
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(15) BRDRILEV ([, AMEAD P TRHEGBMZSDD
THRY, TELGBHZD1ONEFERNTH S,

Model :

One of the main functions of natural hormones in
human bodies is reproductive capacity.
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(16) BMEEDIDODE—FTHHEE, ik, Wt
mEEEZERETADICFIASNS,

Original: The conduction, the convection and the
radiation, which are three modes of the heat

transfer, are used for deciding the temperature
variation.

Correction: The ¢ onduction, the convection, and
the radiation, which are three modes of the

heat transfer, are used for deciding
the temperature variation.
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(16) ?&{7:3_03390)%—#'(356{3%, Xt i, A,

mEEENERET DDIZF,

I.|I|14

Model :

The three modes of heat transfer—conduction,
convection, and radiation—are used to determine
temperature variation.

HEN D,
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(17) MEEML, EFIRILTF—ZTEATEDT, B
HDILRIRILF—ZERLTERZESD
Original: A fuel cell doesn’t have chemical energy
and converts fuel to chemical energy to produce

electricity. 7 Incorrect ‘
Correction: A uel cell: doesn’t have

chemical energy and converts fuelto
chemical energy to preduece generate
electricity.
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(17) M ERIE, ERIRILT—ZEZITHEDLT, R
HOIEEIRILF—ZZERLTEREZES,
Model :

Fuel cells, in which no chemical energy is stored,
convert the chemical energy of a fuel to generate
electricity.
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(18) ZD L& #2455 LH100 mIDFREKES mID B
REEDESRICMALGNT=. | Numerical rep.

Original: 2 grams ompound was added to
mixed liquid of 100ml of distilled water and Sml
of concentrated sulfuric aid.

m Correction: 2 grams of the compound was
added to mixedliquid of of
distilled water and of concentrated sulfuric

aid.
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(18) ZDILEW25 S5LH100 mIDZEBEKES mDiE
HEBREDESRICIMASNT=,
Model :

Two grams of the compound was added to a mixture
of 100 ml of distilled water and 5 ml of
concentrated sulfuric acid.
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(19) — IS REFITHREEEZTIT . ED=H, KE
ICIERIZFME LY, f-i‘%l-lﬂ&i%"é%tbﬂ'o

Original: Typically, the synthetic detergent shows
the surface activity. Therefore, it is the irritant
substance for the skin, and brings destruction for
ecological system.

Correction: Typically, the synthetic detergents

shows the surface activity. Therefore, itis
the-irritant: substanee (0 for the skin

and brings-destructiontfor ecological

system.
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(19) — I & BRI L RE

ICITRBEEGY, £
Model :

5%&&%?0 %a)f:&), )

&

In general, synthetic detergents show surface
activity. They, therefore, irritate the skin and can
destroy the ecological system.

ERERICIIWIRZB=6T,
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(20) FAT=BDKREIL. [FIFX37°CICLZAHRICFHAES TN TL
Ho CNITATRET HEE., KO DEITTULES/N
FGURENTULNS=HTH S,

Original: Human body temperature is controlled

around at 37 deg. C, it is a result of balance between the

heat produced in ,6\@ bWeat going out of our

body. Spell out Ambiguous
Correction: Human body temperature is controlled
around at 37°C. deg-C, it is-aresult of

balance between the heat produced
our body and the heat going our of eur body.
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(20) FAF=BOIEKERIL. [RIX37°CIZHZDFRICTREEF N TLY
Bo cNIZAETRETHEE, AL HKITTULERDN
FIVRESNTWNS=HTH S,

Model :

Our body temperature is adjusted to be at around
37°C. This is because our bodies maintain a balance
between the heat produced by the body and heat
dissipated by the body.
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4 )
From passive to active skills

. = on writing and speaking )

Academic writing skills
(Translation from Japanese to English )
Oral presentation skills

¥

New English education curriculum
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